
 
dxfnIdL gu/kflnsf,nlntk'/ 

sfo{s|d clws[t -LGCDP,sfo{qmd tkm{sf]_ kbsf] lnlvt kl/Ifsf] kf7\os|d 
lnlvt kl/Iff ldlt @)&@ r}q @%, :yfg dxfnIdL p=df=lj= n'e' ,;do lbgsf] ! jh] 

P]g,sfg'g, gLlt lgod, sfo{ljlwx? 
!= g]kfnsf] ;+ljwfg @)&@  
@= :yfgLo :jfoQ zf;g P]g, @)%% tyf lgodfjnL @)%^ 
#= :yfgLo lgsfo cfly{s k|zf;g lgodfjnL @)^$ 
$= :yfgLo lgsfo >f]t kl/rfng tyf Joj:yfkg sfo{ljlw @)^* 
%= ;fdflhs kl/rfng sfo{ljlw, @)&! 
^ ;'zf;g P]g tyf lgodfjnL @)^$.^% 
&= ;"rgfsf] xs ;DaGwL P]g @)^$ 
 
of]hgf Joj:yfkg / ;'zf;g  
!= ;xefuLtfd'ns of]hgf th'{df k|lqmof  
@= glthfdf cfwfl/t of]hgf k|s[of  
#= zx/L ljsf; cjwf/0ff 
$= g]kfnsf] of]hgfa4 ljsf; / rfn' cfjlws of]hgf  
%= k|:tfj Pj+ k|ltj]bg n]vg  
^= ;'zf;g cjwf/0f  
&= ;fdflhs kl/If0f, ;fj{hlgs kl/If0f / ;fj{hls ;'g'jfO{, gful/s j8fkq, u'gf;f Joj:yfkg  
*= ;fj{hlgs hjfkmb]lxtf / gful/s va/bf/L  
(= :yfgLo lgsfosf Go'gtd zt{ tyf sfo{;Dkfbg dfkg d'Nof+sg ;DaGwL Joj:yf  
!)= cg'udg / d'NofÍg k|ltj]bg  
!!= ;fd'bflos d]nfldnfk tyf Ifdtf ljsf; 
!@= dfgj ;+zfwg e' pkof]u lghL 
 
;d;fdlos / ljljw ljifox?  
!= ;fdflhs kl/rfng ;DaGwL j8f gful/s d~r / gful/s ko{6g s]Gb|  
@= ljkb Joj:yfkg, jftfj/0f ;+/If0f÷Joj:yfkg / hnjfo' kl/jt{g, kmf]xf]/d}nf Joj:yf  

#= sDKo'6/ ;DalGw 1fg MS Office, GIS, Email, Internet 
$= sfof{no Joj:yfkg - btf{, rnfgL, hg;Dks{, kqfrf/_ 
%= ;fdfGo 1fg - g]kfnsf cfly{s, ;fdflhs, ef}uf]lns, /fhgLlts, P]ltxfl;s, wfld{s nufot ;du| kIf _ 
^= JolQmut 36gf btf{ / ;fdflhs ;'/Iff gu/kflnsf s/ k|0ffnL  
&= afnd}qL :yfgLo zf;g, jftfj/0f d}qL :yfgLo zf;g, n}lus ;dfgtf tyf ;dflhs ;dfj]zLs/0f 
*= hg ;Dks{ ;dGjo, ;"rgf Joj:yfkg k|0ffnL  

(= ljQLo hf]lvd Go'gLs/0f of]hgf ( Fiduciary Risk Reduction Plan) tyf k|f]Sof]/d]G6 ;DaGwL  

!)= Ifdtf ljsf; of]hgf  
!!= ljs]Gb|Ls/0f, ;+3Lotf / /fHosf k'g{;/+rgf  
!@= ah]6 of]hgf / sfo{s|d ;DaGwL ;dfGo hfgsf/L  
 

 
sfo{s|d clws[t-LGCDP tkm{sf] _ kbsf] lnlvt tyf cGt/jftf{ kl/Iffsf]] 9fFrf 
 



v08 s 
lnlvt kl/Iff 
 
;do M # 306f  k"0ff{Í M !))   
plQ0ff{Í M $) 
;a} k|Zgx? clgjfo{ .  

!= ljZn]if0fTds pQ/ lbg] k|Zg            5ˣ 10=50 
- ! k|Zg !) cs+sf] c+u|]hL efiffdf pQ/ lbg] ;f]lwg] 5 _ 

@= 5f]6f]÷5f]6f] pQ/ lbg] k|Zg                 10 ˣ 5=50 
 
v08 v 
sDKo'6/ lzksf] k|of]ufTds kl/If0f / cGt/jftf{  
k'0f{fÍ #)                
 
!= kbsf] sfd;+u ;DjlGwt / ;d;fdlos ljifodf ljleGg df}lvs k|:gdf lbPsf] pQ/sf]  
   cfwf/df d'NofÍg ul/g]   –  cs+ @) 
@= sDKo'6/ lzksf] k|of]ufTds kl/If0f – c+s !) 


